H & 0l & AF R Y Al A
A 2 AR Dt
T o3 o5 29
s 232d 2 ZEs N (e ®2l)
SA - B - GI(3H) - NISAIR - BAS Ol &k e fimE==l
OIS ALt 959,008 9%2,885 A3,877
& 293 24 916,058 914,317 1,741
°32d ¥ oj¥as XN 916,058 914,317 1,741
o3 24 ¥ EE 162,446 167,624 25,178
101 @I244| 4,447 4,347 100
M I1ZtH2ENSES 4,447 4,347 100
O&dial &I B3 4,447
—olAd| 90,8003 *15+35 3,178
—F, =g 90,8003 x1Z+9&d 818
L=
3,995,200& *4. 5% 180
—ALEEHREZ
3,995,200 *3.545% 142
—LoEIQABERYZ
141,630 *12.81% 19
—1ESERES 3,995,200&*1.75% 70
— M THEERE = 3,995,200 * 1% 40
201 2| 85,299 86,077 ATT8
01 At222ltl 85,107 85,821 AT14
O3l9 28 2& 2| 10,300
—&URRG 2ZF 2 ABHI(EE S 7Y)
200,000 103 2,000
—&dls 2 23 Al
500,000& +23] 1,000
—3|98 L 2AIS g2t 7,300
2dAlE g9 E 30,000&*202*73] 4,200
sl 2= 50,0003 *202*23| 2,000
HEALRZALS 55,0002 *202*13] 1,100
Oy & 254 23 7,584
—o|R4al 29 2te Y|
200,000 =123 2,400
—2E4M EF 200,000 = 12& 2,400
—9o|3] 2xJ| 22| 24
33,000 43|« 123 1,584
—S8E Ztt 100,000& 123 1,200
OFEAM 32 sz 264,0002 =123 3,168
Oodgs g8 48,000
—oFgs =24 MHE
40,000,000 *14] 40,000
—o|3| AN HIE 8,000,000 *14] 8,000
02z ¢2I185 30,000& = 1004 3,000
OLNZBESA = 220,000 x 1+ 12& 2,640
OXE LENSH(S3I&)
150,000 +7 & 1,050
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EA: 2SI AIR2
T o3 o5 29
el 2z2d E ZEs (e ®2l)
SA - BB E(BH) - MSAY - BAS ofl kot e HmE2
OFI9sl S maag 8,250
—Z2QER(9Y) HAE oY
100, 000257 2*13] 700
—oHT 29| EAag
100, 0002 * 102 +43] 4,000
—S2lAMTI2R 2
100,000& x5 23| 1,000
—olARIBE BaLT
100,000& *4 H *43] 1,600
—IHESR §E AlgPE a2
950,000 *13] 950
Oogexts 1,115
—&=D| 35,0003 20 =122 840
—Hld 22,9002 *1CH* 128 275
02 232l 192 256 A64
O3 LAX| &S RER=S
6403 x 1502 %23 192
202 44| 24,000 23,000 1,000
01 2L Y| 6,000 5,000 1,000
O3 =U0HI(E, HlnAsE) 6,000
03 =2 RNHHb| 18,000 18,000 0
O = &&0| 4,500,000 *4H 18,000
203 YR =&iH| 6,300 6,300
03 AIHF=RIHR2F=EIH| 6,300 6,300
O23 AR HRFEH|
4,000,0002/+0.9 3,600
O E/JA FRFA|
3,000,000&%0.9 2,700
301 LEtEX =2 400 400
11 SHAIABIXIR 2 400 400
OBHE S MOl (et |24
100, 000& x2H *23| 400
308 AHXISHHSOIA 42,000 47 500 A5,500
13 SO ASHICHSHE AN [EFAISHI 42,000 47,500 A5,500
Oces g8 2=
42,000,000& x 14! 42,000
oldEs X 664,062 694,652 230,590
205 2| 3/H| 662,562 652,340 10,222
01 2|& &=l 118,800 118,800 0
OQ&Xg =& - A7|
900,000& x99 12& 97,200
OBEX g=H| 200,000& x99 12 21,600
(2-=FSEa=y 265,597 259,119 6,478
oo Ed4 2,459,230 0 128 265,597
03 & =LHOH] 15,000 15,000 0
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A 2 AR Dt
B M7l o5 2
=R cgleg & yEs N (chel =)
SA - B - GI(3H) - NISAIR - BAS Ol &k e fimE==l
O2& = "HluAS oyl
3,000,000 23] 6,000
O2E 32U us ¢yl 1,000,000 *9H 9,000
04 22 =220 48,690 48,690 0
SEIAEEALI 40,500
—o& 4,500,000& 9 40,500
OXIHE SR 2= 27,300,000 *30% 8,190
05 BRI 2 S&I 50,300 51,200 A900
OoE2IB SR A
4,700,000 »9H 42,300
OSEgR2s JRF8H|
1,000,000 =8 8,000
06 232G HR=&L| 66,600 66,600 0
o9 = 2,400,000& «1Ex12& 28,800
£l 1,200,000& * 1+ 122 14,400
OUZEER |I”E 900,000 *1H 23| 1,800
OadJE 900,000 x2S« 12& 21,600
07 QAL H(S32E, MM K) 4,700 4,700 0
Oz 1,000,000 *23| 2,000
Ool® PISDEHI(ZT)
150,000 9 *23| 2,700
08 Sl gyl (QI2tel&) 15,300 14,400 900
O29g A u=EH|(212h
850,000 *x9H +23| 15,300
09 S| Z 2] 45,000 45,000 0
O E N 5,000,000 9 45,000
10 2 EEANFEE S 10,000 7,000 3,000
OoaHE o 2=
10,000,000& *13| 10,000
11 2RI HASRES 11,952 11,661 291
ORA=RUASEERE =
2,459,230 x99 123 4 5% 11,952
12 Q2F0IALRES 10,623 10,170 453
OoA=AHLEEHRE S
2,459, 2303 9  12& +3.545% 9,416
ORI RRLEERES
9,416,000 *12.81% 1,207
405 KHaHESHI 1,500 42,312 240,812
02 =MLl 1,500 1,500 0
OLdas XNd &AM 30,000 =502 1,500
o3 FHAH Y Xt 2t 89,550 52,041 37,509
201 LeH2H| 77,550 52,041 25,509
01 AtR22ltl 57,600 28,344 29,256
0293 A HBAEXH]
4,800,000& x12& 57,600
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2K ol AR D
m: M7 o5 29
|

el 232dE ¥

omEs xg (CHel: @)
SA - B - GI(3H) - NISAIR - BAS Ol &k e fimE==l
02 =329l 19,950 23,697 N3, 747
OAIE &HIR XY 12,900
— L8| SR 90,000 = 10CH 900
—ol3] FA HA(SEHA)
4,500,000& 13l 4,500
—=SA SY3 FA 200,000 »23] 400
—&3tx HA 600,000& *13] 600
— A2 X 6,500
OXt& =Xl 7,050
—Hgsseds) 3,000,000 = 1CH 3,000
—SEHSEH(HRE) 3,000,0002*1CH 3,000
— RS XA 400
HEs8(9d8E8) 300,000 *1CH 300
ESSEH(YERE) 100,000 *1CH 100
—X HEZ 650
-HEssersg) 350,000 & *1CH 350
- EEHSE(HRE) 300,000 *1CH 300
401 AlEHIZ 20| 12,000 0 12,000
01 Al&Hl 12,000 0 12,000
023 #AI 2/ ERcl HSEE ASAY 12,000
SHA2AZHI (23 AIRD) 42,950 48,568 25,618
J1228(23 AR D) 42,950 48,568 25,618
J|2ZHI(SISIALR D) 42,950 48,568 15,618
201 2| 25,966 17,968 7,998
01 AtR22lt| 24,634 14,006 10,628
OFM2Z JI2+=24| 200,000 123 2,400
OAIRIII| 222 2,750
O=S A Xt 143,000 20 122 3,432
Oz =E 1,380
O23 MR HA =2
8,000& 1764122 9,792
O SRS AH 20,0002 10 200
O2l3| HAF SOIHHIAAE 29 89|
100,000 = 12& 1,200
023 HAL 2| 130,000 =123 1,560
Osd)| RAE+ 89
160,000 =123 1,920
02 =329l 1,332 3,962 22,630
OsZJ| HaRs 6,000& 122 72
ORdeHY 23 45,0002« 123 540
OAHOIETV =bIZ 60,0002 = 12& 720
202 04| 11,424 25,200 218,776
01 =WHO4HI 11,424 25,200 A13,776
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oI5| AFR Bt
D AHAERHAYI(2AZAIRD)
D JI=2ZsI(2EAR D)

SA - BB E(BH) - MSAY - BAS ofl kot e
o=l &0l 11,424
—gpixlg

20,0003 x 172 * 14 * 1280 .2 11,424

203 YF=&IY| 5,560 5,400

02 BRI 2=E| 1,360 1,200

O2I3 AR HRADNALZFZRIH|

80,0008 17 1,360

M4 2SI RFEI 4. 200 4,200
O2I3 AR 1} 250,000« 128 3,000
OFEa A 100,000 =122 1,200
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